Unit 6 Structures Signify

Reggy (R): Hello, everyone. I am Reggy Figer. Welcome to our special lecture “Modular Approach to Reading”.
In this unit, we will learn that structure change plays an important role in English.

Satoshi (S) : 72 XA ZAICHIE, BIRTY, AAGECIE, [TCEIX) PEEREHAR-LETR, 2=
=y b T HEFETEHRC LS iEL, MEZZ(ESELZ LTI TS, L) ZE2FUET,

R: If you learn this characteristic property of English, you will find it not difficult to read English texts with

long sentences. Let us first look at the following Japanese sentences.

KEBIEske %9 KERIER 772037
i FIF L fa X Lnvo?

It is clear here that in Japanese, you add a sentence final particle “ka” or “no” to make a yes/no question.
HAGRETIX, B ZELEE. SR D [ X [o] Zzo 91,

How about English then? To make a yes/no question out of “John will come,” or “Tomo is busy,” we do not add
any particles like Japanese;

PEEECRERICZED L &id, AARFED [y 2 [o) ITHYTL2EREZMMMPTINZA 5D TEH Y £H A,
Rather, we just change the structure: in this case, we move the auxiliary verb will or the be-verb is to the

front of the subject.

Will John come?
A/

Is Tomo __ busy?”

~/

Very easy, isn’t it? Then, let us consider the following examples.

A Xt LnwWTd

B: F.4H T
At FLIRIZBDERICAZR H Y 5
B: /M T

“mo” here plays an important role, signifying that the same condition applies to me, or to Otaru.
M) X2 T AUEZERN FA HYTEED, HDWE VM) ITHHTTED, LW L aRTEE
BEEELTVET,

Now, how to express the same ideas in English? You can say:

I am busy, too.

I am also busy.

where the words foo and also function in the same fashion as Japanese “mo”. Likewise, you can say “Otaru is
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popular among tourists as well”, using as well to express this additive meaning. Now, here is a quiz. How to
express the same ideas by starting the sentence with the word soin English? Fill in the blanks and complete
the sentences.

SHIVARXTT, MLZE%E, So THELXLTERTEEIRDETH, FTHREED T, XEEHRITTILES
W, also X too (FfEDLRVY, LN H DA E S FTT,

~

[Quiz]
Al eI Lwk A Tomo is busy.
B: 4% CT7 B: So

A FLBRITBEDEEIC AR H Y £9 Al Sapporo is popular among tourists.
B: /M T B: So

\_

Tomo is busy.

J

A:
B: “Soam I”

At “Sapporo is popular among tourists”
B: “So is Otaru”

Notice that something very interesting is happening here in English.
ETCHHEWVWI ENE I > TVETA, also b too HRVDIZ [ OFKRAHTEET, EZNHHTSAD
TL X 20?

Where can we get this implicit “also” in these (B) sentences? Yes, the change of the structure induces the
implicit “also” meaning here. Together with the sentence initial so, the change of the structure, specifically
the subject auxiliary inversion induces the implicit “also” meaning.

ZZTO So lFHIOXLD busy Zfe L TCWET, ZL T, I & am BPANEDLLHZ LICE-T, TR @ T4
EVIOIEERNPHTSHDTY, HLLIIZ, 2 2HDEEELD So Id popular among tourists Dt V) I L k(T
HRAKBLTT, £L T, Otaru & is BANEDD ZEIZEoT, UML) @ TH) L0 EERAHT 50
T,

Very interesting, isn’t it? So let us practice a little.

Complete the conversations by filling in the words after So.

So DA D THFE L A2 7B S ETSZE W,

[Practice]
(1 a. Galileo is a great scientist.
b. So . (€ ‘Newton also)
2 a. John can play chess.
b. So . (€& T also)
3 a. Mary will leave.
So . (€ ‘Susan also) [EMAFIIRR—T D TFIZ]
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The subject auxiliary inversion is involved to induce the ‘also’ meaning. Easy? Then, how about the
following?
CHEHEo LELWTTN?

[Practice]
4) a. They enjoyed the party.
b. So . (€ ‘Sally also)
(5) a. This house looks good.
b. So . (€ ‘that one also’)
6 a. She likes apples.
So . (€& Talso) [EMENIRR—T D FIZ]

Remember when we need the subject auxiliary inversion but we do not have an appropriate auxiliary verb or
be verb, we use the dummy do in English.

T5E & BN be Bhai 2 AIVE R LN H Y o, YR BIENESC be BhEIRWERE, £ LETN?

John will come. = Will John come?

Tomo plays tennis. > ?7?

IV, # 2 —do Zffiv £33, (Does Tomo play tennis?) [F U Z &3, (DGE)G)DOHFIL TR Z > TWET,
The same rule applies in examples (4)(5)(6). We use the dummy do when there is no appropriate auxiliary
verb or be verb. [Practice (D(2)B)DIEEMHIZZ DR—I D TFIZ]3

OK? Let us summarize so far.

Japanese vs English 1#8&D{ELSDIEL)

In Japanese, sentence final particles such as “ka” or “no” signify that the sentence is interrogative.
AAGETIZ, SURD [~ X [~0] T, 8fMXTHHZ 2R LET,

In English, on the other hand, the change of structure, specifically subject-auxiliary inversion, signifies that
the sentence is a question.

—J, BEETIE, FREEUEEIAZ ANEA DS LT, TOXDRMLTHLZ 2R LET, HAGEDO X 51
DHTLWEEEZ N2 5D TlEH Y A,

Likewise, in Japanese, the particle “mo” conveys the “also” meaning.

AAGECIX, B TH) 221752 L Talso DEMRAERLETAN, ..

In English, in addition to additive meaning words such as also or too, the change of structure can induce the
relevant ‘also’ meaning as well.

JEEETTIE, also X° too &9 BGEEE 5 FIEOMIZ, So D9 LAT, FiEdh#EhFEEL2 T2 LickoT, 7
ZRICH ] OFEWRERT ZENTEHDOTT,

3 (1b) So is Newton. (2b) SocanI. (3b) So will Susan.
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You find instances of this structure a lot in daily conversations, as well as in many written texts in English.

Japanese = particle dependent language

English = structure dependent language

So, by getting used to the subject-auxiliary inversion, you find that reading long sentences in English is not

as difficult and complicated as you might imagine.

[Jang-san looking at a mirror and trying to choose which hat to wear.]

Reggy: Oh, hi, Jang san, what are you doing? You are looking into the mirror seriously.
Jang san: Hi, Reggy. Ah, well, I wonder which hat suits me.

Reggy: Jang san. You are very handsome, and so you will look cool with no hat!

[Jang san looks a little puzzled]

He will look cool with no hat.

ZIEBL o FEENSKETT, EXIDX, 2 2DEFOMIRN AR D T,

This sentence may mean: He will look cool without wearing any hat.

DFD, MEFEZNSELRITHEAyanng] LW ERPH Y £, B7ED no DEMA with phrase D H11Z
HE > TWLIRTT,

Here, the negative meaning of no stays within the with-phrase.

In contrast, the same sentence may mean that he will not look cool with any hat.

Here the negative meaning of no scopes over the whole sentence.

2ORFE, TEARBEFEZNPS-THH y 2L <] LI EHRTT, HED no ALERITHD > TO DR
T,

[Practice (4)(5)(6) DIEMHI L Z D_— VD TFIL]4

Now, there is one way to disambiguate this sentence, just by changing the structure.

1 ODOXARDIZ, 2 OOEMSOFRIZ/ARY 9 52D1F, BfFEOL LI b LivEEA, L LEFRIZIE, FEIR
BEZDHIZTT, 1 DOERITK D HIERH Y £7,

Don’t worry. There is a way to eliminate this ambiguity. Putting the negation phrase at the beginning of the

sentence, together with the subject auxiliary inversion, we get:

With no hat will he _ look cool.
S

This is called a negative inversion
HEFRBZ CEAICHE LT, FEEHFERESE Z > TWET, ZIUIEEREME ST E X E T,

And this sentence only means that he will not look cool with any hat.

4 (4b) So did Sally. (5b) So does that one. (6b) So do 1.
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ZLT, 2T ML, EARIBTFEZNS-THEA y a3 LR LS EWRZITITRY £,

You can make it clear what you would like to say by using the relevant change of structure.

AAGEZR D TTICZIL) RBOHEZMA THEZAMIZT DL 2 A%, HEE T > T D HERITE XTI
EEDILEZDZ LIS THTo TN DH DT TT,

Let us look at a few more examples of negative inversion in English.

BBl 2650 LRTHEL X I,

With no job is John ___ happy. EREICH Y g Em i L
A/
At no time will Bill relax. ENRIETHEMIY T v 7 A L7
A/
Never has Jim tried anything new. —EH U AFH LW EIZHERL7Z 2 & 23720
A/

Notice that all involve the subject auxiliary inversion. Now, here is another quick quiz.

TIED X - LISHETY

[Quiz]
(1 They said nothing.
=» Nothing
2 She looks good with no glasses.

= With no glasses

Fill in words in the blanks to complete the sentences.

TR A H T, SERZ SCBHICEI Lo — U 25 ST E I,

We have to do the subject auxiliary inversion but there seems to be no appropriate auxiliary verb or be verb.
FREPEEEEZ LW E ZATI N, WY R0EES be BiF N A AR L, ZOLI GG, £575
DTLIESITF?

Yes! We use the dummy do!

IF, Z I—do #ffH DT LA,

Nothing did they say. With no glasses does she look good.

[Reggy is trying to arrange pieces of furniture on a room outline sheet]

Oh, hi. Here is an outline of a room. I am going to put pieces of furniture. And I'd like you to try to place

these pieces of furniture as I do.
[Quiz] B =
KXOIRIC LN - T, ZRERD Lo e e
FAEREL TATIESY B Aol S

As you enter the room, straight ahead you see : : - e S
a large sofa. On the wall behind the sofa, - !
a picture of flowers is hung. On the right of the
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sofa there is a small round table.
A bed is to the right of the table along the wall.
Next to the bed is a dresser with a mirror on top.

Opposite the bed, there is a small bookshelf with a few books.

Cohesion BTN ZIFDHBEER

How is it?

s

You may put the furniture something like this.

Now look at the text again.
ZITHY)ETRRAMRTAHEL LI,
RIFZZTHREAZ T RT D2 LT,

B ) R VILFEDWIU /2> TVET,

As you enter the room, straight ahead you see

a large sofa. On the wall behind the sofa,

a picture of flowers is hung. On the right of the
sofa there is a small round table.

A bed is to the right of the table along the wall.
Next to the bed is a dresser with a mirror on top.

Opposite the bed, there is a small bookshelf with a few books.

For instance,

you may say “a picture of flowers is hung

on the wall behind the sofa” instead.

And this is actually the canonical word order of English.

ZHOLDN, EFEHRFEOIAT, EARRIEEEDFEIIZ 25139 TR, TiEAE, 29THIXZ 0 X 5 7235IE
IRDTL X 2 D%

Why is the second line this order? The key is cohesion.

RA Y ME, IO D D723 0 O30 0T ST,

The first sentence gives you the location of the large sofa. Using the location of the sofa as a reference point,
you introduce the location of a new object: a picture of flowers.

TTIZH> TS Y 77 ONEZR#NVICLT, HILWHO, 22 TEBEDRDOMAEZEAL THLHDT
D

Likewise, you might have said “there is a small round table on the right of the sofa.”
IHHHZDOLEHIFERIEL, BEFOFEIETT A,

Again, however, the text word order is natural in terms of the information flow. Using the already-known
location of the sofa as a reference point, the location of a new object, a small round table, is introduced.

T TN >TND Y 7 7 DALEZ IR NT, £z BEN0 & LT AT —7 VO E &V D BT LW EHE
MATHL LWV FEEFHITR>TVET,
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Finally, using the location of the bed as a reference point, the location of the new object, a dresser, is
introduced.

FTTIEZAP>TVDENy FOMEZEAL LT, Ly —DfEZH LWE#RE LTHEALTHLDOTT,
As you may have noticed, using non-canonical word order makes the flow of information natural and easy to
understand.

FAGEIR L TR HMEZRHT 22 L1285 T, DBV D IWERRLDFILE > TWDH DT TY,

OK. Let us wrap up.

Wrap Up F&&

As we have seen in today’s lecture, Japanese use particles a lot to signify meaning and functions of sentences
and words. English, on the other hand, relies more on structures.

BIERENHTLS DL, EIREBTEIBRENDONORRoT, DAL I ERD LB > TWDRGEFHEE
bt LT, MTOLDICBERATTL0? ] LWIFRHIXTEL I TT,

Some of you may complain “Why on earth are there inversions in English at all?” But once you get used to
the functions of inversions or non-canonical word order structures of English, your reading skill will
substantially improve.

JERICIE, TTCZIT) DRV T, FEIRCHEZBRIET 528 T, WANWSLREREZRDT I L LTNDLDT
T EL BT R TWD & FIENEZZHBANAX TZRWEELH VD £7 2, LEOHILEIA (Cohesion)
Dl EARGEIRLUAOEIRZME S Z i, GEMNREMAH L2200 ET, 2O 2L T
reading (Zffde L, B N EAEALEDNTLSBHTLL I,

[Reggy is placing pieces of furniture on the room outline. Finished putting everything where he likes, he
looks really satisfied]

[Suddenly notices the camera is running]

Oh, well, how was the lesson today? I hope you enjoyed it.

That’s all for today. Good luck. Keep practicing, and see you next time.

Tips from Center for Language Learning A EEHBEZ>F—H5DAYE—(7)

Rz FEHHNDIC TRIERDDRHD | ZRIRS

:@Umhmi\i@%ﬁ(%ﬂﬁm)%%ioki%?él&f\w&@o&#@#EW\AWD%?WﬁX
225V H T aRELL, ZOZ 2L TR &, ERICHM X 2wt & S ITKIZESTL X 9, Fi,
B3 Cil~72Z &, %5wi%%@$ﬁ&&%\ﬁD%#<ﬁ%%5¥A:%\_®ﬁikﬁﬁ@t&@wiﬁo
PERETE DIV 72 LUk, SUEMR I T2 ATV D T TidZe <, %@X&X@&@W DAY NN
DRV BB £, DI L EEHK L T reading ZHel) T < Z L3, R EEOD TN T2DDOEHE
mer haeHEZTINLTLL I,
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